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(4) Assume suitable data if needed.
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Q-1

Attempt the following questions:

Which of the following is one type of operator?

A) Star  B) Friend  C) Assignment D) virtual

Which of the following is not a type of constructor?

A)Friend B) Copy C) Default D) Parameterized
Which one of the following is reserved word in C++?

A) Token B) Keyword  C) Identifier D) Operator
................... has same name as the class name.

(14)

A) Constructor B) Friend function C) Inline Function D) Static function

Which of the following is not a type of inheritance?
A)Multiple  B) Multilevel C) Distributive D) Hierarchical
In C++, code line ends with

A); B) && C)* D) $
Which feature of the OOP gives the concept of reusability?
A) Dynamic Binding B) Message Passing
C) Inheritance D)Polymorphism

Which Function is used to read single character?
A) get() B) put() C) getline() D) putline()
Which of the following is not a valid access specifier in c++?

A) Protected B) Public C) Private D) friend

Which of the following is C++ equivalent for printf ()?

A) cin B) cout C) print D) output

A class for which no object can be created is known as class.
A) Inherited B) Virtual C) Abstract D) Friend

“\n” is equivalent to which of the following manipulator?

A) endl B) setprecision() C) setfill() D) setw()

Which is the symbol of scope resolution operator?

A) ++ B:: C>= D.°

Which of the following is C++ equivalent for scanf ()?

A) cin B) cout C) print D) output
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Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(a)
(b)

()
(b)

()
(b)

(a)
(b)

()
(b)

(a)
(b)

()
(b)

Attempt all questions

Differentiate call by value and call by reference.

Explain characteristics of OOP and application of OOP.
Attempt all questions

Differentiate Object Oriented Programming and Procedure Oriented
Programming language.

What is variable? Explain rules of variable with example.
Attempt all questions

Explain scope resolution operator with example.

Write a short note on inline function.

Attempt all questions

Explain friend function with proper example.

Write a short note on constructor with default argument.
Attempt all questions

What is inheritance? Explain multiple inheritance with suitable example.

Explain constructor and destructor with proper example.
Attempt all questions

Explain virtual and pure virtual function.

Write a C++ program to find minimum value using array.
Attempt all questions

Write a C++ program to check enter number is prime or not.
Write a short note on C++ stream class.
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Q-1 Attempt the following questions: (14)

2) ofl Aottmiell s A5 YsLel W UR B? 1
A) Star  B) Friend C) Assignment D) virtual

b) ol Acttuiell 53 s USR] s032522 o1&ll? 1
A)Friend B) Copy C) Default D) Parameterized

) ol Actimigll 52 C ++ Ml Aol AGE B? 1
A) 2lset B) sla§ C) wlouiscl D) lluzeR

d) el ollH B % ollH B. 1
A) 5622522 B) %05 §53lol C) Solcllol §52lel D) RS §5l0t

8) oA wActHil 520 SodR2o oll UslR otell? 1
(A) HeElud  (B) l@Aaa (C) BRRoydla (D) slaslsc

) Cc++ui, 8Sls clset AU AHA A B, 1
A); B)&& C)* D)$

9 00P <l 58 YlAul Yot reGulote(l vauet U B? 1
A) dldalldt oltet B) g2 UAUR C) clkAdLd D) Wl UFsn

h) Rbiad 3¥ser cival HIZ 83 §59U0t AURA B? 1
A) 2adl () B) Y2 () C) A2cdel () D) Yeclset ()

) C 4+ Hl QlAcuHil 5 HioA AsAU ARSLAR ot2l? 1
A) Protected  B) Public C) Private D) friend

D pPrintf () W2 olAotnHill 53 C ++ umsaL B? 1
A) dl 8ot B) {l2B2 C) Moz D) uG2ye

K) A aol ¥ Roll W2 A crd olottcll Astcl ol Al ol 1
d?% auvieuHl wa 8.
A) Inherited B) Virtual C) Abstract D) Friend

D\ ellAetuiell sau ARAryAzel uMsa 82 1
A) endl B) setprecision() C) setfill() D) setw()

m) 18U RAlealet UURee] Ucdls 53j B? 1
A)++ B C>= D.~?

N) ol ActiMiell 53 C ++ Scanf() HE UHSE B? 1

A) dl 8ot B) B2 C) Qo2 D) ABeYye
Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
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Q-4

Q-6

Q-7

(@)
(b)

()

(b)

(@)
(b)

(@)
(b)

(@)
(b)

(@)
(b)

()

(b)

slel ol A ol SIE 6lle o ol UL 52U !
OOP ol cllal@ szl x1al OOP ofl GUAN UMl 7
Attempt all questions (14)
AloBse WRA2s WAL Al YRR AURA2s Wlau o /
Aodsal UADL 3.

UA 9 B? GELERWL A UA oll (A2 AU 7
Attempt all questions (14)
U RAleR2lot AU BELSWQL ULA A 7
SolcllSol §520l UR 35| olltl Gl /
Attempt all questions (14)
Al GELSRWL WA (Ao s1] uxescll 7
Blce eclld WA 5022522 UR 28l ol cuil. /
Attempt all questions (14)
Inheritance 9 8? Ao GELERWQL WA o{g[au Inheritance X3l !
2192 GELSRWL WA 5022522 ol (32522 UMM Al 7
Attempt all questions (14)
XU el Y& c2fAet st Auesal. !
Al GUAL 531al oYolcdH e Ul HIE C ++ YU AW, !
Attempt all questions (14)
Woe? 5 ololR YUIBH B ¥ ol@l A USIRACL HI2 C ++ YlauH /
AUl

C ++ WU S UR 28l olltl Gl !
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